
Concursul Gazeta Matematică și ViitoriOlimpici.ro

Concursul Gazeta Matematică și ViitoriOlimpici.ro

 
Concursul Gazeta Matematică și ViitoriOlimpici.ro

Concursul Gazeta Matematică și ViitoriOlimpici.ro

 

�
	����� �� ��  � ���� �� �� ���������$ � ���������� 	� �� ���!��

������� ������ �� � �! � �� ��#��!�� �'�� ���� ��������� 
����� ���� ���&�� ��

� ��#��!�� ����� �������$� �	 � ��#��!�� � �� � �������$� �
 � ��#��!�� �

����� �������$ %� �� � ��#��!�� � ����� �������$� ��$��&� �$ ��� � &�� ���� 

���!� � ��#��!�� ����� �����������

���

����	��� �$ ���� � ��� �$ ���� � � ������ ���!� � � ��#��!�� ����� ����


 ��������� �� ��� � �$� � ��"�� �� �������� ��#��!��� �� � 30 · 3 = 90�

�� � �$� � ����������� ��#��!��� ���� 22+ 23+ 24+ 25 = 94� 
������&� ��

 �94− 90� ����$ �$ 
 ���!� � ��#��!�� ����� ���� 
 ���������

�

�
	����� �� ����������� 	� 35001 + 44001 < 73001�
�� ������ �	����	

��

�	� ��
���� �� �	��� 3 · 35000 + 4 · 44000 < 7 · 73000 ��� 3 · 35000 + 4 ·
44000 < (3 + 4) · 73000 ��� ��	� 3 · 35000 + 4 · 44000 < 3 · 73000 + 4 · 73000� ���

�������� 	� 35000 < 73000 �� 44000 < 73000� ���� 35000 =

(
35
)1000

= 2431000

�� 73000 =
(
73
)1000

= 3431000� 
� ��
� 
�
�	�� 35000 < 73000� ��� 44000 =(
44
)1000

= 2561000 �� 73000 = 3431000 
�
�	�� 44000 < 73000�

�

Problema 2, Clasa a V-a
Etapa 3, Ediția a XIII-a

SOLUȚIE


